

VICTORIA SCHOOL

2023 Booklist - Year 1 (IP)

Class : _____ Tel : ____ Name Of Pupil: Title of Book Price (\$) Qty Item Publisher 1 School Journal # Victoria School 6.90 # Short-Shipment Note Issued - Item Available when School Re-open. Literature The Giver 2 PM 13.50 Literature Poetry Resource Book Victoria School 4.60 Total 18.10 **Mathematics** think! Mathematic Textbook 1A Shing Lee 13.95 Shing Lee think! Mathematic Textbook 1B 13.95 Total 27.90 Science Science for Lower Secondary Textbook 1A 3.90 Marshall Science for Lower Secondary Textbook 1B Marshall 3.70 Science for Lower Secondary Activity Book 1A 3.50 Marshall Science for Lower Secondary Activity Book 1B Marshall 3.40 Biology Matters for GCE 'O' Level Textbook (3rd Ed) New Marshall 10 34.60 (Optional for Reference) Chemistry Matters for GCE 'O' Level Textbook (3rd Ed) New Marshall 11 27.45 (Optional for Reference) Physics Matters for GCE 'O' Level Textbook (5th Ed) New 12 Marshall 30.50 (Optional for Reference) 107.05 Total History 13 History Resource Book Victoria School 7.50 Chinese Language (Higher Chinese) 14 Higher Chinese Language for Sec School Textbook 1A Marshall 3.95 15 Higher Chinese Language for Sec School Textbook 1B Marshall 3.95 16 Higher Chinese Language for Sec School Workbook 1A 3.25 Marshall 17 Higher Chinese Language for Sec School Workbook 1B Marshall 3.25 18 VS Chinese Composition Pad 50's 1.80 Total 16.20 Malay Language (Higher Malay) 19 Higher Malay Language for Sec School Textbook 1A Marshall 3.65 20 Higher Malay Language for Sec School Textbook 1B Marshall 3.65 21 Higher Malay Language for Sec School Workbook 1A 2.75 Marshall 22 Higher Malay Language for Sec School Workbook 1B 2.75 Marshall Total 12.80 Malay Special Programme 23 Bahasa Melayu Program Malay Textbook Sec 1 Marshall 9.55 24 Bahasa Melayu Program Malay Workbook Sec 1 Marshall 9.20 Total 18.75 Tamil Language (Higher Tamil) 25 Higher Tamil Language for Sec Sch Textbook 1A 3.85 Marshall 26 Higher Tamil Language for Sec Sch Textbook 1B Marshall 3.85 27 Higher Tamil Language for Sec Sch Workbook 1A Marshall 2.75 28 Higher Tamil Language for Sec Sch Workbook 1B 2.75 Marshall

13.20

Total

VICTORIA SCHOOL

2023 Stationery List - Year 1 (IP)

Item	Stationery	Qty	Price (\$)	Amt (\$)	Qty
1	VS A4 Single Line Exercise Book	5	1.30	6.50	
2	VS A5 Single Line Exercise Book	5	0.80	4.00	
3	VS A4 Examination Paper 200's	1	5.00	5.00	
4	VS A4 Holistic Report Book	1	7.00	7.00	
5	VS Subject File: 3 Inch Ring File (Maths)	1	3.30	3.30	
6	VS Subject File (Literature)	1	1.50	1.50	
7	VS Subject File (History)	1	1.50	1.50	
8	VS Subject File (Geography)	1	1.50	1.50	
9	VS Subject File (Physics)	1	1.50	1.50	
10	VS Subject File (Chemistry)	1	1.50	1.50	
11	VS Subject File (Biology)	1	1.50	1.50	
12	VS Subject File (Food & Consumer Education)	1	1.50	1.50	
13	VS Subject File (Music)	1	1.50	1.50	
14	VS 1" 2D Ring File: Mother Tongue (Yellow)	1	3.30	3.30	
15	2" 2D Ring File with 10 Colour Dividers (Purple) English	1	4.90	4.90	
16	Home Econ/A&D Apron Set	1	8.90	8.90	
17	Bandana	1	3.50	3.50	
18	Maths Instrument Set	1	3.50	3.50	
19	School Badge	2	1.60	3.20	
Note:	Strongly Advised to Purchase One Full Set.		Total	65.10	
	General Art Materials				
1	Staedtler Pencil Set #B /2B /4B /6B	1	4.40	4.40	
2	Deli Scissors	1	1.70	1.70	
3	Pilot Eraser	1	0.85	0.85	
4	Pilot Twin Marker Black Colour	1	1.60	1.60	
5	Stabilo Sharpener	1	1.10	1.10	
6	A3 Art File	1	2.50	2.50	
7	A3 Drawing Papers 20's (Loose Papers)	1	3.00	3.00	
	30cm ruler	1	0.80	0.80	
Note:	Strongly Advised to Purchase One Full Set.		Total	15.95	
	School Uniform (Available at Bookshop Only)				
1	Tie	1	8.00	8.00	
2	Shirts size 34, 36, 38, 40, 42, 44, 46, 48	2	13.00	26.00	
3	Shorts Size 26, 28, 30, 32, 34, 36, 38, 40	2	13.00	26.00	
4	PE T-Shirts Size 34, 36, 38, 40, 42, 44, 46, 48	2	10.50	21.00	
5	PE Short Size 34, 36, 38, 40, 42, 44, 46, 48	2	9.00	18.00	
6	Socks Size L, XL, XXL	4	2.50	10.00	
	Please circle the size you want	-	Total	109.00	
	Stationery - Optional				
1	Textbook Cover Set (15 pcs)	1	15.00	15.00	
2	Besta All Pass 6 E-Dictionary	1	69.90	69.90	
3	Casio Calculator fx-97SG X	1	29.00	29.00	
<u> </u>	100.0 00.00000 1/100/00/		_5.00	_5.55	

- >> Prices are discounted and inclusive of GST.
- >> Not applicable for further discount with Popular Card.
- >> Purchase of stationery will only be available at the school bookshop
- >> Exchange of books & stationery is allowed during school term in Jan 2023.
- >> Please produce original receipt. Books & Stationery must be in good condition.
- >> Books with written name will not be accepted.

HOW TO PLACE ORDER?

PLEASE REFER TO DETAILS STATED ON THE ATTACHED INSTRUCTION SHEET.

For purchase at school bookshop - Strictly based on Appointment Booking below:

- Login to https://www.picktime.com/popularschool
- Or **Scan** QR Code to book for an appointment
- Pick your date and time slot.
- Fill in the details required and submit your request.
- You will receive an email notification to confirm your appointment.





SCHOOL BOOKSHOP

Picktime Appointment Slots Calculation For 2022 Sec1

SN	SCHOOL	STUDENT NUMBERS estd	9.00 to 10.00	10.00 to 11.00	11.00 to 12.00	12.00 to 1.00	1.00 to 2.00	2.00 to 3.00	Total Slots per day
17-Dec	Sat								
18-Dec	SUN								
19-Dec	Sec 1 Preparation								
20-Dec	Sec 1 Preparation								
21-Dec	Sec 1 Preparation								
22-Dec	Sec 1		16	16	16	16	16	16	96
23-Dec	Sec 1		16	16	16	16	16	16	96
24-Dec	Eve of PH								
25-Dec	SUN								
26-Dec	PH								
27-Dec	Sec 1		16	16	16	16	16	16	96
28-Dec	Sec 1		16	16	16	16	16	16	96
29-Dec	Sec 1		16	16	16	16	16	16	96
30-Dec	Cleaning/ti dy up				_				
31-Dec	Eve of PH								

Total

480

Note: Slots can change anytime

Enrolment 320 student

VICTORIA SCHOOL

Year 2023 Booklists - Sec 1

nstructions For Purchase of Textbooks, Stationery, Uniforms & PE Attire

PURCHASE AT BOOKSHOP: Purchase at school bookshop.

: Please book an appointment.: No walk-in without appointment.

: Only 1 adult & 1 student are allowed entry into school.

: Please be prepared to wait if there is a queue.

How to Book an Appointment: Login to https://www.picktime.com/popularschool

: **Or Scan** QR Code to book for an appointment

: Pick your date and time slot.

: Fill in the details required and submit your request.

: You will receive an email notification to confirm your appointment.

Bookshop Opening Dates: For Sec 1 only

: 22 Dec 2022 to 23 Dec 2022 & 27 Dec 2022 to 29 Dec 2022

: Closed on 24 Dec 22 & 30 Dec 2022 to 31 Dec 2022 : Closed on Saturdays, Sundays & Public Holidays

Bookshop Opening Hours: Mondays to Fridays - 9.00am to 3.00pm

Discount: 5% discount (where applicable) is given to all Sec 1 students for purchase

of textbooks. Popular membership card is not required.

Mode of Payment : Cash, Nets, PayNow, ApplePay, Samsung Pay, Credit Cards,

NTUC Care Fund (e-Vouchers) & Popular Gift Vouchers.

Exchange of Item : Exchange of books & stationery is allowed during school term in Jan 2023.

: Please produce original receipt.

: Books & Stationery must be in good condition. : Books with written name will not be accepted.

Telephone No : 6446 7098 (School Bookshop) / 6462 9530 and 6514 6813 (Popular Office)

Fax No : 6246 4022

Email : vs@popularworld.com